
Total No. of Questions: 100 Time : 75 Minutes
Maximum : 100 Marks

Question Booklet

Serial Number

106/2018-T-A

1. The question paper will be given in the form of a Question Booklet. There will be four versions of

question booklets with question booklet alpha code viz. A, B, C & D.

2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of the

question booklet.

3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in the Examination

Hall.

4. If you get a question booklet where the alpha code does not match to the allotted alpha code in the

seating position, please draw the attention of the Invigilator IMMEDIATELY.

5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your

question booklet is un-numbered, please get it replaced by new question booklet with same alpha code.

6. The question booklet will be sealed at the middle of the right margin. Candidate should not open the

question booklet, until the indication is given to start answering.

7. Immediately after the commencement of the examination, the candidate should check that the question

booklet supplied to him contains all the 100 questions in serial order. The question booklet does not

have unprinted or torn or missing pages and if so he/she should bring it to the notice of the Invigilator

and get it replaced by a complete booklet with same alpha code. This is most important.

8. A blank sheet of paper is attached to the question booklet. This may be used for rough work.

9. Please read carefully all the instructions on the reverse of the Answer Sheet before marking

your answers.

10. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. Choose

the correct answer and darken the bubble corresponding to the question number using Blue or Black

Ball-Point Pen in the OMR Answer Sheet.

11. Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be deducted.

No negative mark for unattended questions.

12. No candidate will be allowed to leave the examination hall till the end of the session and without

handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that the Invigilator has

verified all the entries in the Register Number Coding Sheet and that the Invigilator has affixed his/her

signature in the space provided.

13. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind of

malpractice in the Examination will result in the disqualification of the candidate.
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Total Marks : 100 Marks 

Time : 1 hour and 15 minutes 

 

1. ‘ ’    
‘’   ,  ? 

 (A)   (B)   

 (C)   (D)   

 

2. “ ”     ? 

 (A)   

 (B)    

 (C)    

 (D)   

 

3.   ‘  ’  ? 

 (A) 2013  1 (B) 2012  1 

 (C) 2014  1 (D) 2015  1 

 

4. 1907    27  ( )   
 ? 

 (A)   (B)   

 (C)   (D)  

 

5.    21  . 
 (A)    (Northern hemisphere)  . 
 (B)      . 
 (C)     (Southern hemisphere)     

  (D)        
 

6.        
 ? 

 (A)  (B)  

 (C)  (D)   

 

7.        
   

 (A) .. (B) .. 

 (C)   (D)   
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8.    (2005)  ,   
  . 

 (A) 2  (B) 5  

 (C) 25  (D) 10  

 

9.     ‘’   
? 

 (A)     ,   

 (B)     ,  

 (C)      ,  
 (D)      

 

10.      . 
 (A)      
 (B)     

 (C)    
 (D)      

 

11.  ,   
     
      ? 

 (A)   (B)   

 (C)   (D)   

 

12.   ‘ ’  ? 

 (A)  (B)   

 (C)  (D)  

 

13.       ? 

 (A)  (B)  

 (C)  (D)  

 

14.     ? 

 (A)   (B)   

 (C)   (D)    

 

15. 2016    ..  “  ”  
   ? 

 (A)  (B)  

 (C)  (D)  
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16.       ? 

 (A) −− (B)   

 (C)   (D) . 

 

17.    , , 
,      
? 

 (A) 4 (B) 2 

 (C) 5 (D) 6 

 

18.   ,   ,   
  ? 

 (A)    
 (B)     

 (C)   (SC)   
 (D)     

 

19.         
   ? 

 (A) 2005 (B) 2008 

 (C) 2010 (D) 2000 

 

20.      ? 

 (A)  (B)  

 (C)  (D)  
 

21.         
? 

 (A)   
 (B)    

 (C)    (MSME)    
 (D)   () . 
 

22.        
? 

 (A)  3 (B)  2 

 (C)  4 (D)  4  (A) 
 

23.       
 ? 

 (A)  (B)  

 (C)   (D)     
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24.         
 . 

 (A)   (B)   

 (C)  (D)    

 

25.     ‘’      
   ? 

 (A)  (B)   

 (C)  (D)   

 

26. ‘ ’    ? 

 (A)   (B)  

 (C)   (D)   

 

27.       ? 

 (A)  (B)  

 (C)  (D)  

 

28.  ‘ 99’   ? 

 (A) 1969 (B) 1999 

 (C) 1924 (D) 1975 
 

29.      
 ? 

 (A)    
 (B)      . 
 (C)      
 (D)      

 

30.     . 

 (A)  –  (B)  –  

 (C)  –  (D)  –  

 

31.     ? 

 (A)  (B)  

 (C)  (D)  

 

32.       ? 

 (A)   (B)   

 (C)   (D)   
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33.        ? 

 (A)  (B)  

 (C)  (D)  
 

34.      ? 

 (A)  (B)  

 (C)  (D)  
 

35.       
 (A)  (B)  

 (C)  (D)  
 

36.        
 ? 

 (A)   (B)   

 (C)   (D)   
 

37.         
     ? 

 (A)   (B)    

 (C) ..   (D)   
 

38.  1857   ? 

 (A)   (B)   

 (C)   (D)    
 

39.      ? 

 (A)     . 
  (B)     . 
 (C)   −    
 (D)     
 

40.      75%  
? 

 (A)   (B)  

 (C)   (D)   
 

41.    ? 

 (A)  (B)  

 (C)  (D)  
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42.     ? 

 (A)   (B)   

 (C)   (D)   
 

43.       ? 

 (A)  (B)  

 (C)  (D)   
 

44.         
 .  ? 

 (A)  ( ) 
 (B)   

 (C)   
 (D)    
 

45.         ? 

 (A)  (B)  .. 

 (C)   (D) ..  
 

46.   ,   
   “ ”   
   ? 

 (A) .   (B)    

 (C) .   (D)    
 

47.     (SNDP)   ? 

 (A)    (B)   

 (C)  (D)   
 

48. ,         
  ? 

 (A)   (B)  

 (C)  (D) ..  
 

49.       
? 

 (A)  (B)  

 (C)  (D)  
 

50.       
? 

 (A) 1938 (B) 1936 (C) 1937 (D) 1942 
 

51. 2017   “”  ? 

 (A) O.N.V.  

 (B) K. J.  

 (C)     

 (D) .  
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52. 2016 “ ”     ? 

 (A) 4 (B) 6 

 (C) 2 (D) 14 
 

53.      ? 

 (A)   
 (B)    

 (C)   () 
 (D)   
 

54. 1817       
? 

 (A)    (B)   

 (C)    (D)   
 

55.    ? 

 (A)   (B)   

 (C)   (D)   
 

56.       ? 

 (A) .  (B) .   

 (C)   (D)    
 

57.         
 ? 

 (A)  (B)  

 (C)   (D)   
 

58.     ? 

 (A)  (B)   

 (C)  (D)  
 

59. 6       
    ? 

 (A) .. 
 (B) . .  

 (C)    
 (D) ... 
 

60.     “ ”   
. 

 (A)  –   
 (B)  –   

 (C)  –   
 (D)  –  
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61. They have been living here _______ 1985. 

 (A) for (B) since 

 (C) before (D) by 

 

62. If I were a millionaire, _______ 

 (A) I would have bought a car. 

 (B) I will buy a car. 

 (C) I would have been bought a car. 

 (D) I would buy a car. 

 

63. The meaning of the phrasal verb ‘put off’  

 (A) assume (B) recover 

 (C) extinguish (D) postponed 

 

64. _______ water in the well is unfit for drinking. 

 (A) An (B) The  

 (C) A (D) None of these 

 

65. Plural form of son-in-law 

 (A) son-in-laws (B) son-ins-law 

 (C) sons-in-law (D) None of these 

 

66. Of my two daughters, Sheela is the _______. 

 (A) elder (B) eldest 

 (C) older (D) oldest 

 

67. Nick said, “I will start tomorrow”. The sentence can be reported as : 

  Nick said that _______ 

 (A) he would start the next day. (B) he would started the next day. 

 (C) to start the next day. (D) None of these 

 

68. The train _______ by the time Suma reached the station. 

 (A) left (B) leave 

 (C) has left (D) had left 

 

69. Sam is too tired _______ walk. 

 (A) for (B) to 

 (C) by (D) at 

 

70. Drinking and driving do not go together, _______ ? 

 (A) do they (B) did they 

 (C) does they (D) don’t they 
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71. This is the spot _______ the accident took place. 

 (A) who (B) which 

 (C) why (D) where 

 

72. Neither of them _______ given the correct answer. 

 (A) had (B) has 

 (C) have (D) None of these 

 

73. The gerund form of run is _______. 

 (A) ran (B) runs 

 (C) will run (D) running 

 

74. Correctly spelt word is : 

 (A) superintendance (B) superintendant 

 (C) superintendent (D) None of these 

 

75. The passive form of “shut the window” is  

 (A) Do shut the window (B) Will shut the window 

 (C) Let the window be shut (D) Shut the window soon 

 

76. The police _______ vigilant. 

 (A) is (B) are 

 (C) were (D) was 

 

77. What does the idiom ‘chip off the old block’ mean ? 

 (A) To get into trouble (B) One who is a block head 

 (C) Just like his father (D) None of these 

 

78. My grandmother likes to stay _______ the town. 

 (A) on (B) in 

 (C) at (D) by 

 

79. The former part of the film is more interesting than the _______. 

 (A) later (B) latest 

 (C) last (D) latter 

 

80. She lives a _______ life there. 

 (A) alone (B) only 

 (C) lonely (D) lately 
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81. 
3

4
      

13

8
  ? 

 (A) 
10

8
  (B) 

10

4
  

 (C) 
7

8
  (D) 

10

6
  

 

82.  : (2 + 7 – 5) 3  

 (A) 6 (B) 12 

 (C) 3 (D) 15 

 

83.   1000 8%   ,    
   ? 

 (A) 180 (B) 1060 

 (C) 1160 (D) 1080 

 

84.        ? 

 (A) 360 (B) 60 

 (C) 160 (D) 270 

 

85.  3   10     
 ,   , ? 

 (A) 3 : 10 (B) 10 : 3 

 (C) 1 : 3 (D) 2 : 3 

 

86.     3.6 ..      
? 

 (A) 12.962 (B) 46.656 

 (C) 36.966 (D) 46.966 

 

87. 64

1

3
 ´ 8

4

3
 ´ 27

– 1

3
 ´ 36

– 1

2
 = _________ 

 (A) 
32

27
  (B) 

12

9
  

 (C) 
32

9
  (D) 

36

27
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88.  53x–2 = 625    x   . 

 (A) 3 (B) 4 

 (C) 1 (D) 2 

 

89.   35   15  . 
   ,   16  . 
    ? 

 (A) 25 (B) 31 

 (C) 51 (D) 40 

 

90.     ? 2, 6, 14, 26, ……  

 (A) 42, 62 (B) 38, 46 

 (C) 40, 60 (D) 36, 42  

 

91.     : , , , 
. 

 (A)  (B)  

 (C)  (D)  

 

92. –8 – (–5 + 7) = _________ 

 (A) 10 (B) –10 

 (C) 4 (D) –6 

 

93.  2      . 

 (A) 30° (B) 120° 

 (C) 60° (D) 10° 

 

94.     6 ..    ,   
8 ..     ,   
    ? 

 (A) 14 .. (B) 10 .. 

 (C) 48 .. (D) 24 .. 
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95. A, D, H, M, …….     ? 

 (A) N (B) S 

 (C) P (D) R 

 

96. ‘’ Q   . 

 ‘’ Q   . 

 ‘’ Q   . 

 ‘’  ‘’      ? 

 (A)   (B)   

 (C) ,  (D)   

 

97.    90,    
 42      ? 

 (A) 48 (B) 24 

 (C) 66 (D) 45 

 

98. 4 ..     2 ..    
     ? 

 (A) 8 (B) 2 

 (C) 16 (D) 4 

 

99.     100 ..      
 4    ,     6 

   ,      
? 

 (A) 1  30 .. (B) 1  25 .. 

 (C) 1  10 .. (D) 1  20 .. 

 

100.    
252

378
  ? 

 (A) 
3

4
  (B) 

2

3
  

 (C) 
1

3
  (D) 

3

5
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